Efficiency vs P,

0.2
. : : :
L0.18F i IARRRERRELE RRREEELREED

> r H H H
O L RIS s SRR
() - . . -

o
E014 """"""""""""""""""""""""
[}

0.12 ;
O SRS N TN —

0.08F -+ ooeeeeeenes o]

L e I #
0.04F b i
0.02F +$+ﬁ

I IL%i_IIdI SLE] ((Oar-prrast L=-TTewgeoTIT
it_stepZ_ttpar- ﬁjasel-new eom
nqle step2_ttbar-phasel-newgeom

[
|vv vl

S| ep2_ttbar-phasel-new m
pallxe‘rgPE neﬁcpstepz ttbargpﬁasel-newgeom

= 0.2
o E oo
R R S S R S
2 F : : : : :
E e
o E : : : : :
e S
@ : : : :
O SRR S A
0.1F
0.08
0.06)
0.04
0.02
<0

RN LR RARE RN
-y

:—o—

_—-—;- -‘. F

.
=

P

Ratio

e

o

6] =

TY[T T T[T T T TTT
e

pm—— B
$

ot

|
w
|
N
|
[N
of =
=
N
w

TP n

Efficiency vs ¢

s 0.1-
g F
>\0.09 ;
Q ]
.90'08 y

Ratio
=




	Contents
	Page 1


